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CHAPTER 7-3 – TRANSPORT

MULTIPLE CHOICE: Circle the ONE answer that best completes the sentence.

The substance that dissolves to make a solution is called the ___________________


A. diffuser


B. solvent


C. solute


D. concentrate

During diffusion molecules tend to move _____________________

A. up the concentration gradient

B. down the concentration gradient

C. from an area of lower concentration to an area of higher concentration

D. in a direction that doesn’t depend on concentration

When the concentration of a solute is the same throughout a system, the system has reached __________________.


A. maximum concentration


B. homeostasis


C. osmotic pressure


D. equilibrium

The diffusion of water across a selectively permeable membrane through aquaporins is called _________.


A. active transport


B. pinocytosis

C. osmosis


D. phagocytosis

Glucose enters cells most rapidly by _________________

A. diffusion

B. facilitated diffusion with a carrier protein
C. facilitated diffusion through an ion channel
D. phagocytosis

What kinds of molecules pass through a cell membrane most easily?

A. large and hydrophobic

B. small and hydrophobic


C. large polar

D. ionic

A cell must expend energy to transport substances using ________________.


A. diffusion


B. aquaporins

C. ion channels

D. carrier proteins

E. proton pumps

Phagocytosis, pinocytosis, and exocytosis are all kinds of _______________ transport.


A. active


B. passive


________________ transport requires energy from ATP to move substances across membranes.

A. Passive

B. Active

Which of the following is characteristic of a carrier protein in a plasma membrane?


A. It is a peripheral protein

B. It transports only one kind of molecules

C. It requires the expenditure of cellular energy to function

D. It works against diffusion


Water passes quickly through cell membranes because

A. the bilayer is hydrophilic


B. it is a small polar molecule

C. osmosis requires energy

D. it moves through aquaporins in the membrane
White blood cells engulf, digest, and destroy invading bacteria using __________________.

A. Facilitated diffusion 
B. pinocytosis

C. phagocytosis

D. osmosis
Endocytosis that brings in small dissolved molecules (solutes) and fluids is called ___________________.
A. pinocytosis

B. phagocytosis

C. facilitated diffusion

D. osmosis

Golgi bodies use ____________________ to transport molecules out of cells.

A. ion channels

B. phagocytosis

C. pinocytosis

D. exocytosis

The pressure exerted by water during osmosis is called __________________ pressure.

A. proton

B. diffusion


C. selectively permeable

D. osmotic
Placing an animal cell in a hypotonic solution will cause water to ______________________.


A. move into the cell


B. move out of the cell

Cells use vesicles to transport substances with ___________________________


A. osmosis

B. facilitated diffusion with ion channels

C. endocytosis 

D. Na+ - K+ pumps 
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CONNECT TO INFORMATION YOU REMEMBER FROM PREVIOUS CHAPTERS

Look at the picture on page 189. 

The carrier proteins and channels that help in facilitated diffusion are _______________ proteins.

A. peripheral

B. integral

Energy for active transport comes from a cell’s ___________________.


A. Golgi complex


B. nucleus


C. mitochondria


D. lysosomes
In order for a protein to be an integral transport protein it must _______________


A. have only polar R groups on its amino acids

B. have only phobic R groups on its amino acids

C. have both polar and nonpolar R groups on its amino acids
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The black dots in the diagram at the left represent solute molecules dissolved in water. In which beaker is the concentration of solute the greatest?


    A


           B

 
  A
  or
  B

Circle TWO answers below that are true.

The way to make the concentration in the two containers above equal would be to _____

A. add more solute to container A


B. add more solute to container B

C. add more water to container A


D. add more water to container B

In the pictures below the circle represents a cell surrounded by a semi-permeable membrane. 
The black dots represent dissolved solute molecules that CAN’T pass through the membrane.

Label the pictures below (isotonic, hypertonic, or hypotonic)
Add ARROWS to show the movement of water in each situation.
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If the solute (dots) in this diagram is unable to pass through the dividing membrane, what will happen?

A. The water level will rise on the right side of the tube

B. The water level will rise on the left side of the tube

C. The water level will stay equal on the two sides

